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Figure S1. Half-hourly estimates of H versus measured H. without energy balance closure correction at the half-hourly scale at
the study sites. Blue lines represent the fitted linear regressions. Black lines represent 1:1 lines.
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Figure S2. Modelled H and LE and measured H and LE without energy balance closure correction at the weekly scale. Blue

lines represent the fitted linear regressions. Black lines represent 1:1 lines.
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Blue lines represent the fitted linear regressions. Black lines represent 1:1 lines.

Figure S3. Modelled H and LE versus measured H and LE without energy balance closure correction at the monthly scale.




